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+ 1-0-0 % g + 100 — 11.54 — 8110.36 — 7.10 0.00 ]
EEEM = 499200

ER : 4E8RLLE




WL/ \yr—ElETE

ER : 4E8RLLE

L/ Ny — A EEEM ZAEH EEH(h ERES J1—b No.
arH)—k m3 20,751.00 28,840.00 8039|#E L /-137-6
EHEXS
BiaYiEhl B5-SEEY
T E aVH) -k VT BT ER
A9 MR 18(21)-12-25(20) (& k7)
RETEITER=E 10m3LL_E 100m3% i
EETNDELE —IREAE
EEERERBH#X S EREL
FISN/IERRDE & -
RS S KFEITERIER -
B KEAK B HAEE R S0
K4 (N : S 5.01
K1 V)= RUTE NSy o % - T— L] EEEE190~110m3.h 497 51,800 51,800
K2 -
K3 -
R(F57%) 18.06
R1 LTEEEE 10.25 21,500 17,600
R2 BRIEES 3.20 24,600 21,100
R3 T R—AEHEEE 2.14 24,700 23,200
R4 EEnF (5%) 1.95 24,200 21,700
VACOE Y 76.93
Z1 £a 9)—bk 5 18(21)—12—25(20) W/ C 60% 75.85 14,700 22,600
Z2 A 1. 28 A\bO—)LERH 1.07 116 133
Z3 -
Z4 -
S( 35 B {ih) —
HER
REEM = 2075100 x ‘:Ig; x ::ggg w0 X - LT )« 497+ —5—'01 =
+ 10.25 % 18,480 + 3.20 % 22,155 + 2.14 x 24,360 + 1.95 % 22,785 18.06
100 21,500 100 24,600 100 24,700 100 24,200 10.25 3.20 + 2.14
T T T X e e YT =t e X N + BRI - I +
+ 1-0-0 % g + 100 — 5.01 — 1180.36 — 76.93 0.00 ]
EEEM = 28840.00




